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EHot = EHot FH ctot FH

1. XpxHH|

KM A g/ Lt/ H450 x @210 x @80 1 ea 14,400 14,400 14,400
[& A1 14,400 - - 14,400
2. MX|H|

M HES AX| 1 ea 5,520 5,520 276 276 5,796
EERFRRH] =x) 24| 5% 5 % 14,400 720 720
[& A1 720 5,520 276 6,516
[g 41 15,120 5,520 276 20,916
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EHot = EHot FH ctot FH

1. XpxHH|

KA TR /LT H750 x @210 x @80 1 ea 16,400 16,400 16,400
[2 Al 16,400 - - 16,400
2. MX|H|

M HES AX| 1 ea 5,520 5,520 276 276 5,796
EERFRRH] =x) 24| 5% 5 % 16,400 820 820
[ A1 820 5,520 276 6,616
[g 41 17,220 5,520 276 23,016
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ctot FH ctot FH ctot FH

1. XpxHH|

KRS/ gt/ e H750 x @210 x @80 1 ea 17,400 17,400 17,400
[2 Al 17,400 - - 17,400
2. ™x|H|

Kers 2 1 ea 5,520 5,520 276 276 5,796
EERFRRH] =x) 24| 5% 5 % 17,400 870 870
[& A1 870 5,520 276 6,666
[g 41 18,270 5,520 276 24,066




